<o @> (rad)
o

< 00, > (M)

<op/p. > (70)

o
[N

o
N

100

=
[¢)]

e

PR

............................

R AN LR
3

-

e

=
o2
iN

2 3
TPlpoT (PCA t%obeamlinélf)

................................................

SR L T
;:ﬁﬁﬁ%ﬁTﬁﬁEfﬁﬁﬁﬁﬁﬁﬁﬁﬁf_ﬁfﬁfﬁffﬁfffffﬁﬁ

_E_H“}x__%_g_.f\;;iifﬁ;élfﬁfffff

o :
107 1

2 3
TPlpoT (PCA t%obeamliné[f)

[—=— DQM_VUOUI_RUUOU0OOUUL__Global_CMSSW_CKIPUSU__RECO
—e— DQM_V0001_R000000001__Global_CMSSW_mkFitPU50__RECO
—— DQM_V0001_R000000001__Global__CMSSW_mkFitPU50CowPtQuad__RECO
—— DQM_V0001_R000000001 _Global__CMSSW_mKkFitPU50LowPtTriplet__RECO

T

2]
o

N
o

.............................................

1 TPl[:g)

T

3

o
1
§ o
=
'5 ..r&*‘H......E .
——H—
————F1
= E
Lhe..d.

2 3
(PCA t%obeamliné'f)

TN N 1
i

107 1

-0

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


